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Note: (i)  All questions are compulsory.
(1)  Programming language : gt
(iii) Marks allotted to the questions are indicated against them.

1. (@) 91 91U &1 aneeye gy — 2
Give the output of the following program :-
# include <iostream.h >
# include < conio. h >
main { )

J
1

clrser );

for (i=3;i=0:-1)
cout <<i;

coul <<i;
geteh( );
return ();

}
(@) wggdgey IR fevgaex &1 ST T30 | 9

Explain the usage of constructor and a destructor ?

(M &Y= ger @ g9eRca & 9m T 2

Name the different types of [nheritance.

(@) wEex @ By "itg fFar @ g ? - 2

Explain the declaration of a pointer ?
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() mﬁmmﬁwamﬁ%?aﬂmﬁ?maﬂﬁmﬁvﬁﬁm
THR TADHCS vEdl & ? 2

What is relationship of a class and its Objects 7 How is memory allocated to a class and jts
objects ?

2. (@) c**#aﬁmﬁqﬂw,éaﬂz'ﬁwﬁﬁmwr?fﬁ:r%? 2

How are binary files different from text files in ¢ ™7

() WWI%?L’()Wﬂ%ﬁWWH?WWi 2

What is a stream ? Name the streams generally used for file 1/0.

() Waﬁmﬁﬁnﬂ@mwﬁ'@ﬁﬁﬁawﬁzﬁﬁ‘mc“ﬁwm
fefiau | . 4

Writeac ™ program to print largest element of an array by using a function.

(&) mwmﬁﬁﬁﬁﬁﬁ%ﬁ?ﬁﬂﬁﬁﬁﬁﬁﬂm 2

Define Public and Private visibility mode,

3. (@) wwwmww%?wmmﬁmm%? 3

What is base class and derived class 7 How are these two interrelated 7

(%) ﬁﬂvﬁwaﬁtﬁﬁquvﬁmﬁﬁaﬁﬁm— 2

Define the constructors for the following definitions —

class A | intx ;
floaty ;
public :
A (int, float);

b
class B ; public A
| public :

(m) T o <« 4 gy — 5

Explain briefly the following :-

(i) g (i) PErITe smaveR

Encapsulation Conditional Operator
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4, (F) Urefhew gRUEE § 9afod — 31
Convert into postfix expression -
A+(B»C-(D/ETF)*=G)+H

(@) w7 foel velivie o 30 o ® fo oo fafg | 2

Write an algorithm to msert an element in a queue,

5. (F) W e 99 B deq @ o areed W @ Ao § Uonived fafau |

Write an algorithm for scarching an clement in an array using binary search.

@) TuH W A [BIE) S H R R oo 2 3w W % e ot @ 4 gme
NG B Savgwar B Ifg A [0] [0] T 99 USW 5000 ® 1A [1] [2] B
AP TS0 WEe W Hed ol 959 N B | 9
An array A [3] [4] is stored in the memory with gach element requiring 4 bytes of storage.
If the base address of A [0] [0] is 5000, determine the location of A [1] [2] when the array
is stored column major wise,

=
B

(M) frafafeaa o Geeem o @Y & @ uer ad e8| 22
How you will sort the following with the help of selection sort method.
10, 22, 65, 223, B7, 343, 98, 244, 3543, 234

6. (@) P o s wiReh 1 7o & wefid SRy - 2

Verify the following using the truth table -
a{(a+ b)=a-b
(@) f=fefag &1 orgenie aaEy — 2
Find the complement of —
F(a, b)=a-b+a-b

M &2 g2 9fors waT B @ Au @ geraer 9 Regyg $ifg | 2

Reduce the given Boolean function by using Karnaugh Map.
F (xr}'rdz) = E E 2r3| III:t'r{--:".l?Jl

(1) gferas sreiE ®f "ee W B Biod — 2

Simplify using laws of Boolean Algebra —

XWX 2ok Yz

7. (@) ReES aeoEn # SELECT U9 PROJECT 3O HT WHsd | 2
Explain SELECT and PROJECT operations in Relational Algebra.
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for=r &7 TEEEY — (i) <= (i) T

Explain the following - (1) Domain (it) Tuple

SQL ¥ f=foriad amswl & faay ot |

Write the syntax of following in SQL commands.

(i) ALTER TABLE (ii) INSERT (iii) DELETE (iv) ORDER BY

HRgEY q3RE 991 & 2 fheel g1 ey © M gared |

What is computer virus 7 Write the name of any two vimses.

99 Ug YR Hcad erurell @) aHes |

Explain Bus and Star Network Topology.

Frafefan w dftr fooof fafRed — () oafem @fear G) #es

Write short notes on following — (1) Transmission Media (i) Modem
HTML Ud HTTP ¥ 2 aaigy |
Differentiate between HTML and HTTP.

Aot ofe ofe o
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